Answers

1.
AREA OF A TRIANGLE
= Length of side AB
MAB= {7 -TF 7 (6 —3F = ¥36 5 0 = 445 u
= Coordinates of point H

Xy = Xy + %(xs —X) Y= Vat ’%U’B = Ya)
meH%(?-n Yw=3+1(6-3
XH = 3 yH =4
We have: H(3, 4)
= Equation of line HC
. T P |
Slope of AB = 8. 1"%
* Slope AB x slope HC = —1 (AB | HC)
° Slope HC = -2
HC. y=-2x+ b (Functional form)
4=-2(3)+ b {Point H(3, 4) is on the line HC)
4=-6+0b
b=10
HC: y=-2x + 10
= Coordinates of point C
0=-2x+ 10 (Paint C{x, 0). located on the x-axis, is on line HC)
X=h
We have: C(5,0)
= Length of the altitude CH
MCH=f8-5F (4 ~OF = 44 ~ 16 — 420 u
= Area of trlangie ABC
Area = m__:%B;w__nl&* (General formula)

_ A - 4m
2

= 15 u?
= CoNCLUSION
The area of triangle ABC is 15 u?.
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4.

A SUMMER FESTIVAL

= Coordinates of point A

y=- %x +72
y=-~30)+ 72 (Point A s located on the y-axis)

We have: A0, 72)
= Coordinates of point D

y=-3x4+72
y=-3440)+ 72 {Point D is located on line x = 40)
y=42

We have: D(40, 42)
= x-coordinate of point C
X = Xy + B(xy - x,)
=0+ (40 - 0)
= 16

> CONCLUSION

D >r'=
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The length of the fence to be installed by the organizers is 16 m.
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